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2021

PHILOSOPHY
[HONOURS]
Paper : VIII

Group-A & B

Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Use separate answer sheet for each Group.

GROUP-A

PART-I
(Phiolosophy of Religion)
[Marks : 50]
(= 8 @o)
1.  Answer any two questions: 1x2=2
@-CFIC g 2o bed vie ¢
a)  What is Totemism?
CBICHsTam 2
b)  What do you mean by evil?
SpatE] @0 6 (R 2
c) What is revelation?
oy 6 e

[Turn over]

d)  What is bhakti?
ofe 52
2. Answer any five questions: 2x5=10

@I 2156 aria Ted 11 ¢

a)  What is religion, according to Freud?
FRCTH o 4 52

b)  What is meant by Divine Revelation?
G LTI <0 6 (R

c) What is meant by yajikeha karma?
REaRE AT

d)  What is the nature of Religious language?
43 T T T e

e) Whatis'Mana'"?
Wi e

f)  What do you mean by free will?
2R TS 0 [ @R

g)  What is the argument in favour of the view that
God is a necessary being?
58T 2 SR FTgl— @2 red AL I (5o

3.  Answer any three questions: 6x3=18

@-Fie fo=B erea Teq wie ¢

a)

166(A)

Clarify the main tenet of Totemism. On what
grounds Totemism is different from

Tabooism?

[2]



GIGTRImE e1 Te<) Ao | [Fer fofers
(BICHSAI BIIg oW (AT 72452

b) How would you distinguish between Religion
and Comparative Religion?
f QIR QRS A N g [Feicd siiefy
P ?

c¢) Does the moral argument accept God as a
presupposition? Explain with suitable
examples.
fes Ifete 51 [ a3l 2FFho el sion
1 2 2 THIRE AR I |

d)  What is philosophy of religion? Discuss, after
Hick.
ey 135 2 R SIepTRel S BB FCA |

e) Elucidate Bauddha arguments for Disbelief in

God.
(Sace sE-Red-Reaid gheef SiEm a0
Answer any two questions: 10x2=20

@-CFIC g 2o bed vie ¢
a)  Explain Jaina view of religion.
&l olfFe Te T Iyl 4 |
b) 1) Are good and evil contradictory in
religion? Discuss with reasons.
T ST5TE] 3R ST 1 ofeie e 2 feore
1T R |

166(A) [3] [Turn over]

i1)  Draw the distinction between subjective
evils and collective evils. How evils are
to be removed?
el Sate qT) TBTS SRS K
Al o 57 | eI =it v 11 A2
c) Explain and examine the teleological argument
for the existence of God.
YRR SBEAIE SR o e Y& vd ARGE
I A |
d)  God of religion is nothing but infantile father

image'— Explain critically.
YOI P RIS o1 2ROIs RISl ey fbg e —
ANTCEDAT AR TN F |

GROUP-B

(Jeffrey)
(c=f)
[Marks : 50]
(N ¢ o)
Symbolize the following using quantifier, relational
symbol etc. wherever necessary (any two):
1x2=2
AR AT I (@~ ufo)
a)  Both Sun and Moon are guilty if either is.
Tt GFE @ (I 2 O A AR I TRz @I |

166(A) [4]



b)

It is raining, and either snowing or blowing.

I 2R @R T QA 2GR WL AIOP 122 |

c) Alma's love is sometimes reciprocated.
ST ST FUC FAE ]2 |
d) All who love Alma are loved by her.
I IETHCF SN ST ST Ol |
6. Answer any five questions: 2x5=10

@I 2156 aris Ted 1l ¢

a)

b)

d)

166(A)

Using Truth Tree Method show whether
(A — B) — C really does imply -C — A .
AR smfo @S S (e (A — B)— C,
—C = A (F el 33 61|
All self-contradictory statements are
equivalent. Give an example.
A 7R AR LS | Tl wie |
Write the truth table A | B, which means A is
false as well as B is false.
A L B 9T TSRIRA 51071 59, TR S 75 A =7 e
@< B =21 el |
Use Truth Tree Method to show that the
following is a logical truth.
[H - (x) Mx] < (x)(H - Mx)
Make an equivalent statement of the following:
feate qmbw e vis ¢
It is not that it will not rain.
@ T (@ IR 7@ A

[5] [Turn over]

f)  How does Jeffrey formulate "The Law of
Redundancy"?
(eIl ST “qeen s FHa” € opgl ol
PLICRe 2

g)  What is context dependent sentence? Give an
example.
ZAR-HAICHARF I FICF 0T 2 ©UIRS 718 |

7.  Answer any three questions: 6x3=18

@-Fie fo=B erea Teq wie ¢

a)

b)

166(A)

What is semantic equivalence? What is logical
equivalence? Use truth table to show that the
following two sentences are not logically
equivalent: E & S, E. 2+2+2=6
wigfste el 52 (@ifes el 2 Fopizam
ARIRY (18 TN A7 16 1< e
E&S,E

Use the distributive and commutative laws to
verify that the following two sentences are
logically equivalent:

(AvB)&(CvD)
(A&C)v(B&C)v(A&D)v(B&D)

FepIeTel oI5 8 ISR ozl &ee) et et
AT @ @fEFelE ANLT ©f 613 4 ¢
(AvB)&(CvD)
(A&C)v(B&C)v(A&D)v(B&D)

[6]



d)

Draw circle or circles within rectangle and
represent the following sentences by shading
the empty regions:

(1) A&B&C, (ii) AvBvC, (iii) A&(BvC)
SISCH(AH food JE TR G XIS T A1
RIS (7 Hleie amelrs afogire w2
(1) A&B&C, (ii) AvBvC, (iii) A&(BvC)
What are the functions of Truth Tree Method?
Explain.

Ao siafon e 6 62 il 59|

Explain with example the importance of

conjunction and disjunction of Truth Tree
Method.

AOMIR 2aed (Fq FRFNF @ [THEFT GG
TUIZIPTR Il |

How can Truth Tree Method be used to test

the validity of an argument? Explain with
example.

TR oiafe emlsl e fFeia e @as! [kva
41 T 2 THlZFIE IR |

8.  Test the following inferences for validity by Truth
Tree Method (any four): 5%x4=20
eI simfe eilel S N SiwefE tare! e
! (- BETB) ¢

a)

166(A)

Alma does love all her lovers.

Alma has a lover whom she does not love.

[7] [Turn over]

b)

d)

g)

166(A)

I O 74 (AN S |
AN QTG (2N SN I S S 1 |

(x)(Mx - H)
(EIX)(MX - H)

(T>E)&(A—L)
(TvA)—(EvL)

Everyone loves himself.

Bert does not love himself.

A3 [N O |
G e oeaIeT 9t |

Moriarty will escape unless Holmes acts. We
shall rely on Watson only if Holes does not
act. So, if Holes does not act, Moriarty will
escape unless we rely on Watson.

e 3 =1 e A SRR SAiferc A | el
GG €3 TS TR (el M (@ZIP] FIe
1 #eel | Ak @R AW Al A A W
SAferca Tica T T S et ok fea 57 |

A—B
B—>C

C—D
A—-D

Alma loves everone who loves her.

Alma does not loves Bert.

Bert does love Alma.

[8]



T AN SN SIS, S SN |
ST GG ©ERIRT «l |
G ST ST T |

h)  Holmes, if anyone, can trap Moriarty.

Moriarty can trap himself.

Holmes can trap Moriarty.
ARG FW GFeCs I |
Sz e P (FeIrs AN |
I ARG I (FeTCs 11 |

GROUP-B
PART-1
(Hume)
(Rew)
[Marks : 50]
(N ¢ o)
Answer any two of the following: 1x2=2
@-CFIC g 2o bed vie ¢
a)  "That the sun will not rise to-morrow is no less
intelligible a proposition....". But why?
“TIe I TIE A — B I T J(@ory 7 .. 17
o8 e
b)  Give an example of Matters of Fact.
IR T SRAET G {0 GBS 7S |

c¢)  What is meant by the law of contiguity?

166(A) [9] [Turn over]

10.

SAlfecara oIS TeT0e I (=R e

d)  What is mitigated scepticism?
S AR Fl 2

Answer any five of the following: 2x5=10

(- (I 2Hofs v Teg s ¢

a)  What is academic secpticism, according to
Hume?
TRETTE 0 #{eS] A<M 5 2

b)  What is impression, according to Hume?
RS o =i 5

c)  What is belief according to Hume?
[EUCEROELIEATE:

d) 'No impression no idea'—Does Hume admit
any exception of it?
‘@A Y B I giFete 97— R S
@2 Tifea @ Afoa Fiem s 2

e) '..bestill aman'— what is the meaning of this

saying by Hume?
T @0 O @ Mg — @2l A6 28w 5
(QRNCS (bR ?
f)  What is the meaning of saying according to
Hume, that A is the cause of B?
A =51 B-g3 g, fREGe 30 g9l ofia o1
g)  What does Hume mean by liberty?
T Tl IS 5 Q@I

166(A) [10]



11. Answer any three of the following: 6x3=18
@I fom eoam Ten wie ¢

a)

b)

d)

What does Hume mean by innate ideas? Why
does he deny the existence of innate ideas?
2T zers el @10 (% (@R 2 ol (@ zere
IR BGOSR B 2

How does Hume resolve the conflict between

liberty and necessity?
2 famcst Fidiws! ¢ st aw b ?
What is scepticism? Is Hume a sceptic?

Discuss.

AR 2 LT FA*RIA <&l AR {6 2 A
4|

"Custom is the great guide of human life."
Explain, after Hume.

R 1 e T RS TG ARG |7
AR |

Distinguish, after Hume, between fiction and
belief.

fRG SpTael SIAREa o € Rt ST #Aiefy
fefa < |

12. Answer any two questions: 10x2=20

@I 7B 3T Bed mi 2

a)

166(A)

Distinguish, after Hume, between "easy and
obvious" and "accurate and abstruse
philosophy".
TGN ST T 8 ARG Wfel GR AN S
@ o[BI Wi a3 ST N1 9 |

[11] [Turn over]

b)

d)

How, according to Hume, do we derive the idea

of necessary connection? Explain.

RT3 TP SRRl el SR i
NERIHACLCICERAC IR T

Distinguish, after Hume, between judgements
about Matters of Fact and judgment about
Relations of Ideas.

TG SIPTRICe THI-HG I SRR AR A= 79T
RS SrRCels Al 9 |

Give a brief account of Hume's view of

miracles.

SEFEe! AE RO R Sfesred b e
@ v |

GROUP-B
PART-1I
(Vedanta)
(@me)
[Marks : 50]
(N ¢ o)

13. Answer any two of the following: 1x2=2
@- (I 7B A TR 0e ¢

a)

b)

166(A)

What is meant by nityakarma?
ooy 50 FeTCe 6 (IR 2@z 2
How many mahavakya-s are admitted?

Foufe TR TFT I @@ ?

[12]



What is anubanda?

S 2
d) What is meant by prayascitta ?
ARM5E =00 6 (AT 2
14. Answer any five questions: 2x5=10

@-CFI Hofo grd Tea wie ¢

a)

b)

d)

g)

166(A)

Distinguish between wupadanakaranga and

nimittakc?ra@a .
Tofimie il ¢ e e #hdy [ e
What is samanadhikarany ?

ATy e

Distinguish between vyagthi ajfana and

samasthi ajffana .
T Sreele @ AN Sl S #A14 2
What are the different types of Kosa-s ? Name

them.

ffen e @Rl & e oime am @i e

What are the marks of an eligible person?
Sl (ARl & 6o

What are the different parts of

savija samadhi ? Name them.
H4re e wErefel [ &2 iwa i <41 |
What is meant by adhyaropa ?

LR A0S [F @RI 2

[13] [Turn over]

15.

16.

Answer any three questions: 6x3=18

@It Foa s e Tea wis ¢

a)  Explain the nature of upasana .
THAPTIE TR W F |

b)  'Idam wuvamasivakyak sambandhatrayengkhandar -
thabodhakar® bhavati'— what is here meant
by sambandhatraya?
TR @ TP HFRARTGII S —
QI STF RS AFIG F6T00 T @R 2R 2

c)  What is meant by vastu and avastu according

to Vedantasara? What is the significance of
regarding ajfana as avastu?

UISAR SPIE IE 8 SE eI [T (R 2
SCE(F SREE I67F oley 52

d)  Why is ' samastyupahita caitanyam' referred
to as sutratma , Hiranyagarbha and prana?
TeifEe: e (& @ A, Zaerers ¢
e wifefze w4l 232

e) What is the difference between jivanmukti
and videhamukti?

GG ¢ R sy «Hie st 74|

Answer any two of questions: 10x2=20

@-CHIe 7o e bed vie

a)  What is suksmasarira ? Discuss briefly the

origin and functions of the different

component parts of the suksmasarira. 2+8

166(A) [14]



b)

d)

166(A)

Tl ¢ egfs FCFCo A 4 |

Distinguish between Mahavakya and
Avantaravakya . How does the Mahavakya

'ahark brahmasmi' make us aware of the
identity of jj,4; and Brahman? 2+8
TR € B[ AT & AL o 541
et A e &9 e e S IR
A 2 A F|

What is meant by savaripa laksana? How is

it to be distinguished from tatastha laksana ?
Discuss in this connection the reason for

admitting tatastha laksana . 3+3+4

F9 ST IO [ @R ? O oY (A IR
AN (AR 2 ©67 7 FHIEE IE @ 2P
B 41 |

Explain, after Vedantasara, the nature of the
two kinds of sakti of ajfana . 10

(R ST STeaI(1d *fearxa ot i<y 41 |

[15] [Turn over]

GROUP-B
PART-II

Contemporary Indian Philosophy

[Marks : 50]
(319 ¢ @o)

17. Answer any two of the following: 1x2=2
@- (I 7B A TR 0e ¢

a)  Who Sivajflane jivaseba — Who said this?
el GReTAr— @2 e FE 2

b)  What is meant by 'devazana'?
‘RIS <@ B (I 2

c) According to Rabindranath, man is combined
of two natures. What are these two natures?
AL TCS, ST B0 O 13 O} @ | (1%
wis ©l7 & 5 e

d) In Vedic language God is called Avih. What is
meant by Avitl.
@AM SIS SRS IR <@ 2Rz | <R @10
JI @RI ?

18. Answer any five questions: 2x5=10

@I 2156 aria Ted 11 ¢

a)

b)

166(A)

What is practical Vedanta ? Answer after

Swami Vivekananda.

F REFNEE e I AfFere @’ o1
(] 2

How does Rabindranath distinguish between

[16]



d)

g)

man and animal?

T FISIE AT @R AT T 2L FCE 2
How does, according to Rabindranath, a man
can passing over the limitation of individual?
AALALT SCS, FSIF N AFGEAINE SfoT™
JACO A2

What is the goal of religion? Answer after
Rabindranath.

AL 0, 40 o (2

What according to Swami Vivekananda, is the

real nature of man?

FIS R 09, N a5 Tl 62
What is Religion? Answer after Swami
Vivekananda.

FI RCTPINCwE W0 4 62

'There are three parts in every religion,
according to Vivekananda'. — What are these
three parts admittted by Vivekananda?

FI R T, AP 46 foaid I ©lsl
Site— @2 foal ©lol & 62

19. Answer any three of the following: 6x3=18
@I Forfb aoss beg e ¢

a)

b)

166(A)

What is the significance of the word 'seva' in
Vivekananda's philosophy?

‘CRV 2MibR R wie F wleorx

What, according to Rabindranath, is the nature

[17] [Turn over]

of Religion? Discuss.
AL NS LI Fh5 B 2 S 541 |

c)  What does Rabindranath mean by 'surplus in
man'?
T AR CIFE’ o100 F IR 2

d) Distinguish between 'apparent man' and 'real
man' after Swami Vivekananda. 6
R STePTRe FCH “AOTS TeJa 8 ‘oS S’
SCER RS

e) 'Religion is an essential part of our life'— How
does Vivekananda explain this?
A SR G GF SR o5t — Rl
Fol= @i il F 2

20. Answer any two of the following: 10x2=20

@-CHIe 7o e bed vie

a) Elucidate the concept of liberation in the
philosophy of Rabindranath.
AL Wi e a=enf 1 4|

b)  Explain the main features of Practical Vedanta
after Vivekananda. 10
R SRR S Ao @iess e
CaEPTR I 5|

c) Discuss the nature of 'universal Religion' as
propagated by Vivekananda. 10
A HCE TIAF FCI ALGA GG T
SO S |

d) Explain Tagore's concept of 'Universal Man'.
AT PeTogt L 59 |

166(A) [18]



The Problems of Philosophy
[Marks : 50]
(N ¢ o)

21. Answer any two of the following: 1x2=2
@I 7B 3T Bed mi 2

a)

b)

d)

Who is the author of the book Three
Dialogues between Hylas and Philonous?
Three Dialogues between Hylas and
Philonous 9367 avfret &2

'[dea is something in somebody's mind'— who
are the propounders of this doctrine? Realist
or Idealist?

‘G ZEA! T FIFD A O[EO — a3 ToImiv
IR 2 TG SN SRR ?

What are the two parts of principle of

induction?
SRR Nfox 7fo =ie F e
What does Russell mean by sense data?

Efer-Csie wICe e F IR ?

22. Answer any five of the following: 2x5=10
@Il #H16f6 e Tea e ¢

a)

b)

166(A)

What are the entities about which we can have
a priori knowledge, according to Russell?
77 ?
What are three laws of though? Give example.
TowTa foa o 1 F 2 Twigzel i |

[19] [Turn over]

d)

g)

How does Russell distinguish between
knowledge and belief ?

eelel @ FRMIGT N0 FETE Pl {19y Foe 2
What, according to Russell, is the multiple
relation theory of judgement?

ANCICETR NS SR TG 2

Distinguish between knowledge by
acquaintance and knowledge by description.
AR Gaiv @ IfaIETFesic= &y AL S |
What are the sources of our knowledge,

according to Russell?
AR WS AN i Senefer i 52
What is the fundamental difference between

scientific and philosophical knowledge?
el @ w Sits W e s Fie

23. Answer any three of the following: 6x3=18
@I fomfo dos Ted mie ¢

a)

b)

166(A)

Is solipsism logically possible? Discuss after
Russell.

2R AW F (@I fedol Stz ? ACES
A I AT FCA |

What is meant by uniformities of nature?
gFfex gFwmore! TS IeT0e F @RI 2

What is the main argument regarding the

existence of matter? Explain after Russell.
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d)

Y I¥F SGCed ACF g G0 Fi e A
S SACTOA AT |

Distinguish between sense-data and sensation.
SIS ¢ BfR-KEME [ AL I |
How does Russell distinguish between
appearance and reality?

AT SN SO € TEIF N o114 FA0 ?

24. Answer any two of the following: 10x2=20
@I 7B 3T Bed mi 2

a)

b)

d)

166(A)

"The value of philosophy is in fact, to be sought
largely in its very uncertainty." Discuss after
Russell.

G 2IC5F IR S[oT) YIS F(F O3 ST HO 1 0
— ST SePAKe S SO KA |

Discuss, after Russell, different means of
acquiring the knowledge of universal.

SO AN Sl €T GRSl DT
S I IRIT FCAT |

Discuss Russell's view regarding rejection of
abstract idea.

T2y arell <o) R AT o fb S S |
What is truth? Explain, after Russell, the nature
of truth. 2+8
Aorel fF 2 AERIE SPRd T ACOF a4
HCTIO FCAT |
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